The Association of Corporate Treasurers CPD Exit Test


Credit Ratings (Specialist Level) 
Worked Solutions

Question 1

You are the Treasurer of a company that has recently been upgraded from A to AA.  You have approached your relationship bank to see if they are prepared to reduce the margin they charge on your £100m loan facility which is fully drawn.  In the past, the bank has insisted any loans it makes must meet its required return on capital targets independent of  other fee-based business it may receive.  The bank’s capital ratios are close to the regulatory minimum.

You are aware the Basel II (‘Pillar One’) proposals on bank capital adequacy mandate a 50% risk weighting for A-rated borrowers and a 20% risk weighting for AA-rated borrowers.

Assuming these proposals are implemented, use the information below to determine how much the bank could afford to reduce its spread (while maintaining its required returns on regulatory capital) as a result of your upgrade?

Your bank’s capital adequacy 
8%

(i.e. capital / risk assets)

Your bank’s required return on capital
10% post-tax

(including all Tiers of capital)

Corporate tax rate
30%

(a) 34 basis points

(b) 29 basis points

(c) 25 basis points

(d) 20 basis points

(e) Don’t know

Answer

The right answer is (a) 34 basis points.

The Basel II proposals, once implemented, will result in a bank’s capital requirements for risk assets (loans) being dependent on credit ratings (whether provided by the rating agencies or, for certain sophisticated major global banks, generated internally).    The use of ratings in this way means that the amount of capital a bank is required to hold in support of a specific loan  can rise or fall dramatically as ratings thresholds are crossed.  In this case, as the company moves up to AA from A, the risk weighting for its loan falls from 50% to 20%.  Given that the bank requires a 10% return on capital and that its capital adequacy ratio is 8% the following can be deduced.

Old rating (50% risk weight)

Required return pre-tax
= 10% / (1 – 30%)

=  14.29%

Capital required to support £100m loan
= 100  ( 8% ( 50% risk weighting

=  £4m

Return required on that capital 

=  £4m ( 14.29%

=  £0.571m

=  0.571% margin on £100m loan

New rating (20% risk weight) 

The required return of 14.29% remains the same

Capital required to support £100m loan
=  100 ( 8% ( 20% risk weighting

=  £1.6m

Return required on that capital 

=  £1.6m ( 14.29%

=  £0.229m

=  0.229% margin on £100m loan

The implied margin to generate the required return for the bank has fallen by 

(0.571 – 0.229) = 34.3 basis points

The Treasurer’s Handbook, Manual VI Ch 6

Question 2

The cash-flow measure of interest cover (i.e. earnings from continuing operations before interest, taxes, depreciation and amortisation (EBITDA) divided by gross interest incurred before subtracting capitalised interest and interest income) is often cited as an important factor in determining a corporate’s rating.  Which of the following represents the three-year median for this measure for AAA, AA and A rated US companies?

(a) 9.6, 6.1, 3.63

(b) 14.6, 9.6, 6.1

(c) 25.3, 17.1, 9.4

(d) 31.3, 23.8, 14.6

(e) Don’t know

Answer

The right answer is (c) 25.3, 17.1, 9.4

These are the result of the three-year median figures for the ratings of AAA, AA and A, between 2001 and 2003.  

Manual VII Ch 3, Standard and Poor’s Corporate Ratings Criteria 2005 (www.corporatecriteria.standardandpoors.com)
Question 3

Rating agencies are frequently called upon to determine a credit rating for the finance subsidiaries of large groups. In this context, which one of the following statements is true?

(a) Finance subsidiaries are rated in the same way as other subsidiaries

(b) Independent finance subsidiaries can receive a higher rating than their parent; captive finance subs (those which have over 70% of their receivables generated by sales of the parent’s goods or services) cannot

(c) Captive finance companies can receive a higher rating than their parent;  independent finance subs cannot

(d) Both captive and independent finance subs can receive a higher rating than their parent

(e) Don’t know

Answer 

The right answer is (b) independent finance subsidiaries can receive a higher rating than their parent;  captive finance subsidiaries cannot, at least from the majority of rating agencies.

From a ratings perspective, finance subsidiaries are unlike other subsidiaries due to their purpose and standing within the group.  They cannot be rated in the same way as other subsidiaries.  Independent finance companies can receive a higher rating if there is an adequate degree of separation between the subsidiary’s and the group’s businesses.  Such a  subsidiary could ultimately be sold as an independent business.

Conversely, a captive finance company, i.e. one which has over 70% of its receivables generated by sales of the parent’s goods or services, will be rated by most agencies as if it were an integral part of the parent company – a single enterprise.  The captive would not be sellable as an independent business.

Standard and Poor’s Corporate Ratings Criteria (www.corporatecriteria.standardandpoors.com)
Question 4

When raising capital many companies use hybrid instruments which have characteristics designed to appeal to particular types of investor and to reduce their cost of funds.  Pure equity, for example, is high risk for the investor but low risk for the corporate, as it carries no obligation for payment and is permanent.  

Hybrid instruments may require a rating of their own but, whether or not this is the case, rating agencies have to respond to any changes in a company’s capital structure by reviewing the issuer rating and possibly the rating for specific debt instruments.   Below is a selection of capital instruments:

A
Twenty years remaining life deferrable-payment subordinated debt

B
Commercial paper

C
Convertible cumulative perpetual preferred stock

D
Typical convertible debt

Rank the above in order, starting with the one that a rating agency will regard as most like equity through to the one that will be regarded as most like debt (assuming no underlying change in markets).

(a) CDBA

(b) ACDB

(c) DBCA

(d) CADB

(e) don’t know

Answer 

The right answer is (d) CADB

Commercial paper permits the least flexibility in debt servicing, making  most like “classic” debt.  Convertible cumulative perpetual preferred stock, on the other hand, allows by far the most flexibility in servicing, making it most like equity.   The difference between long-term deferrable payment subordinated debt and typical convertible debt is a fine one.  However, the deferrable payment element coupled with the longer maturity make the former more like equity than a typical convertible.

Standard and Poor’s Corporate Ratings Criteria http://www2.standardandpoors.com/servlet/Satellite?pagename=sp/Page/FixedIncomeBrowsePg&r=1&b=2&s=9&ig=&i=&l=EN&fi=&fig=&fs=&fr=&ft=&f=3
Question 5

You are treasurer of a company whose default rating is A-.  You are considering a debt restructuring exercise in order to bring your capital structure closer to its optimal level in order to maximise shareholder value.  However, you are concerned to avoid a rating drop to BBB+.  You have been advised informally that the increase in debt in itself, being relatively modest, would not affect the rating.

You are considering what form of debt to issue, some of which will be used to refinance existing debt.  Which of the following is most likely to result in the retention of your existing rating?

(a) An issue of senior unsecured debt (so that 20% of liabilities will be unsecured, the rest remaining either secured or some other form of priority liability)

(b) An issue of senior unsecured debt (so that 80% of liabilities will be unsecured, with the rest secured or some other form of priority liability)

(c) Both of the above

(d) Neither of the above

(e) Don’t know

Answer

The right answer is (b) an issue of senior unsecured debt (so that 80% of liabilities will be unsecured, with the rest secured or some other form of priority liability).

In the case of no debt being secured, the rating of the unsecured debt would be identical to the corporate credit rating because no part of the debt would have prior ranking for servicing or repayment purposes.  Rating agencies have to judge the point where the proportion of secured liabilities, i.e. that element which benefits from  priority, compromises the credit quality of  the remaining unsecured liabilities.  Secured debt is not the only possible ‘priority liability’:  tax or wages owed may, depending on the jurisdiction, rank ahead of unsecured liabilities.

S&P’s general rule regarding the point at which credit quality of senior unsecured debt is reduced sufficiently to justify a one notch rating downgrade  is when 20% or more of total assets are encumbered (or 15% for speculative grade issuers).  A larger proportion of secured debt may result in a downgrade of more than one notch.  Treasurers should bear these ratios in mind when issuing secured debt if they are keen that their overall rating should remain unchanged.

Standard and Poor’s Corporate Rating Criteria

(www.corporatecriteria.standardandpoors.com)
Question 6

A rating represents an opinion on the creditworthiness of a particular borrower with respect to a particular debt obligation.  Both timeliness of payments and likelihood of full eventual repayment are considered in determining the appropriate rating.

In deciding which factors are more or less important in each context, some general guidelines have been adopted.

Which of the following alternatives best reflects these guidelines?

(a) Investment grade ratings focus more on timeliness of payments

(b) Investment grade ratings focus equally on timeliness and full eventual repayment

(c) Speculative grade ratings focus more on timeliness of payments

(d) Speculative grade ratings focus equally on timeliness and full eventual repayment

(e) Don’t know

Answer 

The right answer is (a) investment grade ratings focus more on timeliness of payments.

As default risk rises, the concern over what can be recovered in the event of a default becomes  greater.  Answer (d) is therefore partially correct in that for a speculative grade rating the recovery given default is given more weight, but this will not necessarily always be an equal weighting with timeliness of payments.
Standard and Poor’s Corporate Rating Criteria

(www.corporatecriteria.standardandpoors.com)
Question 7

Since 1990 there has been a dramatic rise in corporate bond issuance in Europe (albeit more muted in recent years), coupled with a change in the distribution of ratings across the bonds being issued.

Which one of the following best describes the change in the proportion of new issues rated “investment grade” compared to those rated “non-investment grade” that has taken place between 1990 and 2004?

	
	
	Investment

Grade
	Non-investment Grade
	
	Investment

Grade
	Non-investment Grade

	(a)
	from
	100%
	0%
	to
	86%
	14%

	(b)
	from
	99%
	1%
	to
	76%
	24%

	(c)
	from
	98%
	2%
	to
	69%
	30%

	(d)
	from
	100%
	0%
	to
	62%
	38%

	(e)
	Don’t know
	
	
	
	
	


Answer 

The right answer is:

	
	
	Investment

Grade
	Non-investment Grade
	
	Investment

Grade
	Non-investment Grade

	(d)
	From
	100%
	0%
	to
	62%
	38%


In 1990 the median rating of European issues was A and no issues were rated below investment grade.  By 2004 the proportion was 62% investment grade and  38% non-investment grade.  Greater market tolerance of leverage as a means of maximising shareholder value has led to a steady decline in median corporate ratings while reductions in typical yields have led investors to become more interested in higher-yielding speculative bonds.  The result is that the European bond market is now much closer to the US pattern than it was fifteen years ago. 

Standard & Poor’s Credit Pro 7.0, initial ratings of new EU issuers only

Question 8

Rating agencies pay much attention to cash-flow-related debt payback ratios when determining long-term default ratings.  Cash-flow ratios are useful for indicating a company's ability to repay debt over the long-term, to pay interest expense over the short-term and to finance capital outlays.  A key cash-flow ratio is total debt (often, in Europe, amended to net debt) divided by EBITDA (earnings before interest, tax, depreciation and amortisation).  Which of the below comes closest to the median or typical values for debt to EBITDA for US industrial issuers rated BBB, BB or B?
(a) 2.4x, 3.8x, 5.6x 
(b) 3.9x, 4,8x, 6.5x 
(c) 4.0x, 5.1x, 6.9x 
(d) 1.7x, 2.9x, 4.1x 
(e) Don't know 
Answer 
The right answer is (a) 2.4x, 3.8x, 5.6x 
These are the the result of the three-year median figures for BBB, BB and B-rated US industrials between 2001 and 2003.  Previous medians have differed only slightly from these figures.
Note that the use of EBITDA ratios as a single measure of cash-flow without consideration of other factors can be misleading since they are susceptible to manipulation through aggressive accounting policies.  Generally speaking EBITDA ratios are most useful for analysing lower-rated credits towards the lower end of an economic cycle.  No rating agency would make a rating decision purely on the basis of a single such ratio.
Source:  Standard & Poor's Corporate Ratings Criteria 2005

www.corporatecriteria.standardandpoors.com
Question 9

If you wish to maintain an investment grade CP rating, which of the following would be acceptable forms of back-up facility for a Commercial Paper programme?

(a) A formally committed credit line (with an attendant commitment fee)

(b) A pre-approved credit line (with attendant commitment fee)

(c) An orally committed credit line 

(d) A money market line at zero cost

(e) Don’t know

Answer 

The right answer is (a) a formally committed credit line (with an attendant commitment fee) 

At the very least, rating agencies expect a back-up facility to be written and committed.  Terms such as “preapproved” or unwritten lines suggest that the facility may disappear just when it is needed.  A back-up facility will be needed when all else has failed, so its certainty needs to be undoubted.  Liquidity funding should be available for at least the next thirty days of maturing CP (for the best credits) or for all outstanding CP (for the worst credits).

Manual VIII Ch 2, Standard and Poor’s Corporate Ratings Criteria

www.corporatecriteria.standardandpoors.com
Question 10

When rating a corporate loan, rating agencies must assess the extent to which any credit protection measures such as security, guarantees and covenants might enhance the potential rating of that loan compared to that for the company as a whole.

In attempting to determine the efficacy of any credit protection, rating agencies must assess the liquidity of assets pledged as security.  In the case of an offshore oil drilling company raising a bank loan, pledged assets might include the following:

A
Vessels for drilling

B
London head office (owned freehold; revalued every two years)

C
Executive car fleet (all less than three years old)

Place these assets in the order in which you think they could be easily liquidated for close to book value.

(a) ABC

(b) BAC

(c) CBA

(d) ACB

(e) Don’t know

Answer

The right answer is (c) CBA

In the circumstances in which an offshore oil drilling company is likely to get into financial difficulties, it is unlikely its vessels will be in demand.  These are thus likely to be the least liquid assets of the three.  There is always a ready market for used cars and this market is both deep and liquid so this should  be the most liquid of the assets (albeit depreciation rates vary over time).  The liquidity of the firm’s head office is less easy to predict as the property market can be extremely cyclical for reasons entirely unconnected with the offshore oil drilling business.  Depending on its location and the state of the market, property may be more illiquid than other assets.

Manual VII Ch 3, Standard and Poor’s Corporate Ratings Criteria

www.corporatecriteria.standardandpoors.com
(1)

